
1. Evaluate	each	of	the	following	determinants	by	inspection	

(a)	

	

0 0 3
0 4 1
2 3 1

	 	 	 	 	 	 	 	 (b)	

	

1 1 1 3
0 3 1 1
0 0 2 2
−1 −1 −1 2

	 	 	 	 	 	 	 	 (c)	

	

0 0 0 1
1 0 0 0
0 1 0 0
0 0 1 0

	

	

	

	

	

2. Let	

		

A=

0 1 2 3
1 1 1 1
−2 −2 3 3
1 2 −2 −3
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(a) Use	the	elimination	method	to	evaluate	det(A).	 	

(b) Use	the	value	of	det(A)	to	evaluate	 	

	

0 1 2 3
−2 −2 3 3
1 2 −2 −3
1 1 1 1

+

0 1 2 3
1 1 1 1
−1 −1 4 4
2 3 −1 −2

	

	

	

	

	

	

	

3. Calculate	the	following	determinants	by	cofactor	expansion.	

(a)

	

2 0 0 1
0 1 0 0
1 6 2 0
1 1 −2 3

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 (b)

	

2 1 2 1
3 0 1 1
−1 2 −2 1
−3 2 3 1

	

	

	


